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Instructions for the Candidates

. Write your roll number in the space provided on the top of this page.
. This paper consists of fifty multiple-choice type of questions.

At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :

(1) To have access to the Question Booklet, tear off the paper
scal on the edge of this cover page. Do not accept a booklet
without sticker-scal and do not accept an open booklet.

(i) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing or
duplicate or not in serial order or any other discrepancy
should be got replaced immediately by a correct booklet
from the invigilator within the period of 5 minutes.
Afterwards, ncither the Question Booklet will be replaced
nor any extra time will be given.

(i) After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)

and (D). You have to darken the oval as indicated below on the

correct response against cach item.

Example:AD) B @ ©

where (C) is the correct response.

. Your responses to the items are o be indicated in the OMR Sheet

kept inside the Paper I Booklet only. If you mark at any place
other than in the ovals in the Answer Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant entrics,
which may disclose your identity, you will render yourself liable
to disqualification,

You have to return the test question booklet and OMR Answer
Shect to the invigilators at the end of the examination compulsorily

and must not carry it with you outside the Examination Hall.
Use only Blue/Black Ball point pen.

. Use of any calculator or log table etc., is prohibited.

There is no negative marks for incorrect answers.
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marks. Attemptall the questions.
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Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

1. Mahatma Gandhi considered education

as a
(A) Means of earthing livelyhood
(B) Privilege given to human beings
(C) A preparation for life
(D) Life long processes

2. Values according to pragmatists are
(A) Universal
(B) Perennial
(C) Utilitarian
(D) Instrinsic
3. According to Vedanta education is that
which
(A) Liberates
(B) Refines
(C) Regulates
(D) Purifies

4. Marxist philosophy of education is

more

(A) Liberal

(B) Economic
(C) Individualistic
(D) Social
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5. If formal and informal education are to

arrive at similar goals, there should be
(A) More emphasis placed upondiscipline
(B) Less interference in the home life

(C) Close cooperation among different
agencies of education

(D) Greater care given to community life

. Religion is the opium of the masses

who has stated so ?
(A) Swami Vivekananda
(B) Karl Marx
(C) Rabindranath Tagore
(D) Mahatma Gandhi

. Religious instruction cannot be

imported in state maintained schools as
per the

(A) Article No. 16 of Indian constitution
(B) Article No. 28 (II)

(C) Article No. 45

(D) Article No. 35

. What is correct about education as a

bipolar process

(A) Teacher and text books are its
elements

(B) Teacher and students are its two
elements

(C) Educational institution and
environment are its two elements

(D) Curriculum and evaluation as two
elements
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9. Inademocratic countries like India, the
relation of society and education is
represented as

(A) It1s society that influences
education

(B) Itis education that influences
soceity

(C) Neither education society, nor
soceity influence education

(D) Education and society both influence
each other

10. Which is the most correct statement
with regard to modernization

(A) Social change is the outcome of
modernization

(B) Modernization is the outcome of
social change

(C) Modernization is one of the factors
of social change

(D) Modernization is independent of
social processes in society

11. Accultration is the process of

(A) Accepting the innovations required
for the development of nation’s
culture

(B) Developing qualities which affect
the culture of nation

(C) Being influenced by the cultural

imperatives of a nation

(D) Following the latest trends of a
culture as opposed to the present
traditions.
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| 12. Social stratification and rigid class

structure brought about the

I (A) Caste system
(B) United culture

(C) Natural integration

| (D) Disunity among various groups

13. Rabindranath Tagore’s Shantinikethan 1s

a true depiction of the philosophies

(A) Idealism and naturalism
(B) Naturalism and realism

(C) Idealism and pragmatism

| (D) Realism and pragmatism

14. John Demey experimental school was
called

(A) The activity school
(B) The progressive school

(C) The community school

(D) The free school

“Spirituality is indeed the master key of

the Indian mind, the sense of the

infinitive 1s native to it” — who stated
this

(A) Rabindranth Tagore

(B) Aurobindo

(C) Swami Vivekananda

(D) Mahatma Gandhi
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16. The term subculture is used to indicate

(A) The belief and customs of traditional
social groups

(B) The culture of the lower strata of the
society

(C) The culture of different groups of
society

(D) The traditions and ideas of tribal
groups

17. J. Bruner proposed that,
(A) Teacher should leave students to

learn independently without his
support

(B) Knowing is to accumulating

knowledge as in book

(C) Students learn best through

discovery and spiral curriculum

(D) Discovery is not an essential

component of learning

18. Which of the following is correct order

from most simple to higher abilities
(A) Signal learning, concept learning,
chainging S-R, problem solving
(B) Stimulus learning, verbal learning
chaining S-R, problem solving

(C) Verbal association, discriminative

learning, concept learning

(D) Signal learning, Rule learning

concept learning, Problem solving
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(A) 1-c, 2-b, 3-a

(B) 1-a, 2-c, 3-b

(C) 1-b, 2-c, 3-a

(D) 1-c, 2-a, 3-b
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19. Vernon’s intelligence measurement is
based on

(A) g-stwo factor approach model
(B) Seven factor approach model
(C) Hierarchial level model

(D) Three dimensional abilities model

20. Find out the correct matching relating
Set I and Set I1.

Set - 1 Set — 11
(1) Seeing a) Fluency
uniqueness

(2) Large numberof b) Flexibility
possible solutions

(3) Shifting with case ¢) Originality
from one to other
type

(A) 1-c, 2-b, 3-a

(B) 1-a, 2-c, 3-b

(C) 1-b, 2-c, 3-a

(D) 1-c, 2-a, 3-b

21. Find correct arranged Maslow’s
hierarchial needs beginning with lowest
to higher in the last

(A) Physiological, Safety, Love, Esteem,
Self actualisation

(B) Love, Esteem, Safety, Self
actualisation, Physiological

(C) Satety, Love, Esteem, Physiological,
Self actualisation

(D) Physiological, Love, Safety, Esteem,
Self actualisation
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(A) 1-a,11-b, 1v-C

(B) i1-b, ii-c, 111-a

(C) i-c, 11-b, 111-a

(D) iv-a, 11i-b, ii-a

22. Find out the correct arrangement of
merarchlal order starting from 1% year
to 12" year of development

1. Industrious versus inferiority
2. Autonomy versus shame and doubt
3. Basic trust versus mistrust
4. Initiative versus guilty
(A)2314
(B) 2341
(C) 3421
(D)3241

23. Which of the following is not
propounded by Chomsky

(A) Linguistic knowledge consist of set
of principles common to all

languages

(B) Children are borne with innate
knowledge which leads language
acquisition

(C) Language aquisition is closely
related with environment child
placed

(D) Children learn in order exact to what
they are taught

24. Which of the following represent
Freud’s association between mind and

corresponding construct
1) Ego a) Unconscious
Mind
11) Super ego b) Conscious
mind
1) Id c) Preconscious
mind
1iv) Super Id

(A) 1-a,11-b, 1v-C

(B) 1-b, 11-c, 1i1-a
(C) 1-c, 11-b, iii-a
(D) 1v-a, iii-b, ii-a
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(A) 1-c, 11-b, 111-a, 1v-d
(B) i-a, i1-d, 111-c, 1v-b
(C) 1-c, 11-d, 1ii-a, iv-b
(D) i-a,1i-c, 111-d, 1v-b
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25. Find out correct match of Set — I and
Set—11

(1) Positive a) Getting a gold

reinforcement coin for good
behaviour
(11) Positive b) Loosing
punishment privilege such
as going with
friend

(111) Negative ¢) Getting a pinch

reinforcement for disobeying
d) Avoiding fine
by not breaking

the rules
(A) i-c,ii-b, iii-a, iv-d
(B) 1-a, 11-d, 111-c, 1v-b
(C) 1-c, 11-d, 111-a, iv-b

(D) 1-a, 11-c, 111-d, 1v-b

(1v) Negative
punishment

26. Maladjustment refers to those

(A) Attempts at adjustment that do not
succeed

(B) Adjustments that are not permanent

(C) Adjustments that fall to satisfy
individuals and social needs

(D) Adjustments that are socially
unacceptable

27. General behavioural signs of mentally
retarted children do not include

(A) Below average imagination
(B) Limited play and social interest
(C) Average intellectual capacities

(D) Lack of motor co-ordination
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28.

29.

30.

1.

32,

The ultimate aim of guidance is
(A) Personality development
(B) Adjustmentin life
(C) Solving problems
(D) Contributing to society

The mechanism by which painful and
traumatic experiences are pushed into
the unconsciousness 1s called

(A) Repression
(B) Regression
(C) Supervision
(D) Impression

Thurstone’s name 1s associated with
(A) Multifactory theory
(B) Structure of intellect
(C) Primary mental abilities
(D) Two factor theory

Flexibility as applied to problem
solving situation means

(A) Overcoming functional fixedness

(B) Being able to apply unique solutions
to problems

(C) Being able to use familiar things in
unfamiliar ways
(D) Beingreasonable in application

Need achievement measured by using
the TAT is an example for measuring
personality by using

(A) Non projective method

(B) Client centered method

(C) Interview method
(D) Projective method
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33,

34.

I3,

36.

37,

38rats B8 e3DVDTT IBNTOD B0
£33, 03003 BOOTVT @’Eﬁ%&f@ OROF %,
R0BREEE RS FONLATS. &5 DIk
083D, TR LI DI R
e:sﬁﬁciga ;

(A) t-m0eg

(B) ANOVA

(C) o=omgs dFewes

(D) RBRowode IBeRF

3INS IR 1o B esemN SOBRETFROF
998 VRF O QEOINTI), BeodT ?

(A) TORT, OB F, ST TP

(B) 95, BORS, SO

(C) &3er, TO°AS, NeT R,

(D) &3er'r, SO'T, MEFBRT

10 003 100 Rosdne Do B3 50 wd

[OOR0 eba’% ?
(A) 10.5 (B) 60.0
(C) 12.0 (D) 15.0

2,000 0T ARSI , uuud) DROIT
SRODR, (HINTOD, ) TONEIATIT T
£330 amﬁqﬁéodazdgt BWFATT B0, A SIAY
380300300 ?

(A) 30307 e0IF

(B) mﬁﬁ DB

(C) 3R T,0D APBRAPRNIT

(D) ab‘a@é SeR)F

BT DTWOD E%Oﬁ)ﬁ% 2,08 RRT T,0L0TY
303 3N

(A) Becdege odaz%z%é <39, 080"
(B) wmdmos o05se R, 03C°
(C) _ﬁ,ﬁmcj@ Gmcgj%é 29,00
(D) sgesgpses m9,000°

33. Aresearcher has collected data through

a questionnaire regarding subjects
opinion towards ‘Right to education

act’. The statistical analysis for data
should be

(A) T-test

(B) ANOVA

(C) Descriptive analysis
(D) Correlational analysis

Which of the following set has
exclusively attitude scale development
procedures

(A) Thurston, Likert, Allport
(B) Likert, Thurston, Vernon
(C) Likert, Thurston, Gutman
(D) Likert, Vernon, Gutman

34.

35. If sum of deviation of 100 raw scores

from 10 1s 50, then mean 1s

(A) 10.5

(B) 60.0

(€ 12.0

(D) 15.0
In a historical research when one

considers the source of material and
discuss its genuineness, it is known as

36.

(A) Internal criticism
(B) External criticism
(C) Content validation
(D) Value Judgement

37. The most appropriate sampling

technique for case study 1s

(A) Stratified random sample
(B) Multistage random sample
(C) Systematic random sample

(D) Purposive sample



http://www.studentbounty.com/
http://studentbounty.com/

38. T80T IRRFOD, TIRTOOL QCWOTD IR
DT BHODS ?

(A) DFTHTE WTCDS
(B) ﬁsagg H%oeﬁﬂ*‘ eﬁr%oi);j
(C) BSSedriod tﬁd;ﬁcd:ﬁ
(D) s03pens &53,c0s

39. mas‘#daﬁg{ ﬁaeiﬁomr{ agir-uf—l meﬁd@t Zen
abadc:-arbgcﬁ ?

(A) BT =083 B9

(B) S0oxe,a =Hes 003

(C) T =8 %dmﬁ@h

(D) 2om wond DB T SOUED) lesstad

40. 202 wccsn 0.05 SRR w3, FRSG,

9T e:sﬁo‘égd% :
(A) 0.001 ds%cﬁq ma%c;q_,
(B) 0.01 d)hﬁd@__j d)a'%cég

(C) 0.1 SUX AR K]
(D) 0edT 0z

41. TcBRDSOD L[RONA oo &,

TORTBF BT 3N FHOTE_
grdEngoondcs ?

(A) R0F, 5030 F0BY YVTIEBNY AOF R VCHTED
(B) J3¢esis 90300 S0 wiod0m B0

(C) méoéé f;amasabd DoVeTE W30
2037 €930

(D) Redregzod o Bo3ned)

42. 280eacd (RGP) M,0T HG0T Fnddch

JOTIFTO_, WRTF D23OTCI0
&SN,

(A) o
(B) a%¢2
(C) Ei.raddg A3

(D) 0ed5 conyte @we) |

38. Cross sectional is a type of study

(A) Descriptive study

(B) Small sample study
(C) Development study
(D) Experimental study

39. While testing hypothesis type -1 error is

committed by

(A) Decreasing the level of significance

(B) Increasing the level of significance

(C) Keeping level of significance
constant

(D) Fixing level of significance at one
tail

40. If a t value is significant at 0.05 level

then i1t should

(A) Not be significant at 0.001 level
(B) Not be significant at 0.01 level

(C) Besignificant at 0.1 level
(D) All the above

During research-Review of related

literature activity is undertaken
during

41.

(A) Problem selection and objectives
specification

(B) Post-analysis report writing stage

(C) During review of literature chapter
writing stage

(D) At all the phases of research

42. In case of homogeneous sample based

data, the standard deviation is
(A) Positive

(B) Negative

(C) Near to zero

(D) None of the above

w5
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43. S IFL FBI0LOT TEHBFLD BT TF,

44.

45.

46.

=0T 3‘%:5% :

(A) SF* Fewr®

(B) Larzer Jewr

(C) otsoraer Fews

(D) Sedn Ree*

0T BFODTT),N, TOSeOBODYTOI
LRUONY BRBT O DFOBNYOT 0088/
D20 FONGACINT. &8, T Teod
QWBOTOID 20TV

(A) R0, ZHRT 203

(B) S8

(C) I3t BooRIT).

(D) Zanart Boeoodzom) o
F0SeOFONYTOR WUONT BRZD0W TWED
20T R,0HS° 1 AOWORRE0T
SRTE0L TEVT, TROLTLIET.

(A) %208 30

(B) es32022 230

(C) =nTzer 230

(D) 323 wdbdss 30

‘20833 TEFODNO TS0 TOLOROID_
NNF DWODE, WROSNG R TS
TOFOTTIOE,T WTPODI " B3 WD e
SF08 LT ONIT, FINT CIRS B¥OT

ST O SRETLET ?

(A) ua';bmqua T, Fees’

(B) =53

(C) 8¢ weds

(D) R dFoDH

43. For computing rank differential correlation

44.

45.

46.

the data should be at least on

(A) Nominal scale
(B) Ordinal scale

(C) Interval scale
D) Ratio scale

For a study data is collected from all

the units of population. The computed
standard deviationis a

(A) Statistic

(B) Parameter

(C) Parametric

(D) Non parametric
A sample derived from a population

should have proportionate
representation with reference to

(A) Independent variable
(B) Dependent variable
(C) Criterion variable

(D) Intervening variable

“To study the effectiveness of
multimedia package for science subject
in terms of achievement at VIII"™
standard’. In this study based on
objective which one is the variable
study

(A) Multimedia package

(B) Achievement

(C) VIII standard

(D) Science subject
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47. R03ReTS 23e0TEIF FPNS 0SYTO

48.

49.

S0.

T3030c3N ?

(A) TEPORYTO, FOPEFORRT 0B
DODTRTIT)TO

(B) a%&é ron,&'w,
ORI T

(C) D% RONTH, DT LATOWTO BOBY
RSIATAPILOIR)IAS

(D) 23 eamdoxm)m0, ﬁ@ea;a’a’ CRTTO_
FETRIRTO W) WO TWRTRIRTO

“ZEomd ZSNTY e JedeenTSed
UTCIREN B @Cﬁ’% 3T DR R O
CIamn @isa%d:ﬁ R00RE BT 95,00
B3 3TREIITOCD FoBREGT BT
CINF)TO RS WSS ?

(A) o3 e3 RcZReTS

(B) 250088 Rodrers

(C) Zodnerogs Aodners

(D) Romegs RoBrers

O, THCOL T TN 380T LT
BTN ézigj , AUDRO 0B FRRD DO
FOTRIUWONE. AW B303) T,00BRODN 03D
ABACWOH TBRCAT oD EReDROSTS

(A) aEag8zmN

(B) pmogseon

(C) AzRowen 2w,

(D) E)E’arodag 200N

QRO TRIEIFONAT ﬁ@eir{%

o'igl BRODTOTSS.

(A) SRR TOT) DLWONT, (DWCENLD)
asagsc:i:uﬁa{gé =029 :DE?BSESFg

(B) 0@ 52,03033923, DT BFE T3
fﬂaﬁfﬁﬁﬁ e

(C) 23083, 9368 2uST TEND,
RIPY DRTIE BN TS (Rr,e00r 8¢)

(D) soxge 306800 T, JRYJF DTN,
%&@

J J

WWFIOR)TO WOBY

48.

49.

47. Research activity is a processes of

(A) Reflecting, simplifying and reporting

(B) Collecting information, discussing
and reporting

(C) Collecting information, analysing
and reporting

(D) Analysing, tabulating and
reporting

A research study titled ‘A study on

use of school laboratory at secondary

schools and its relation to teacher
traits’ fall under

(A) Fundamental research
(B) Descriptive research

(C) Experimental research
(D) Qualitative research

The anxiety score of grandmother,
mother and daughter are found to be
high, average, and low respectively. It
shows that anxiety is correlated with
age

(A) Negatively

(B) Positively

(C) No-correlation

(D) Cannot be included

S0. All standardised tests have

(A) Objective test items, validity and
reliability

(B) Construct validity, reliability and
scoring key

(C) Objectivity, multiple response
sheets, scoring key

(D) Computerisation sheet, objective
1items, manual
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